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Rounding to the Nearest Thousand Answer Key

A) Round each number to the nearest thousand.

1) 1,900
i) Graph 1,900 on the number line.

<« T T T T | T T T ® —
1,000 1,500 1,900 2,000

i) Which number is closer to 1,900 on the number line? a) 1,000 v 2,000

iii) What is 1,900 rounded to the nearest thousand? 2,000
2) 63,150
i) Graph 63,150 on the number line.
<« | T T | T I T T >
63,000 63,150 63,500 64,000

i) Which number is closer to 63,150 on the number line? ®v»63,000 b) 64,000

iii) What is 63,150 rounded to the nearest thousand? 63,000

B) Round each number to the nearest thousand.

1) 1,275 1,000 2) 5,793 6,000
3) 98,628 99,000 4) 74,430 74,000
5) 6,857 7,000 6) 3,082 3,000
7) 30,164 30,000 8) 2316 2,000
9) 41,949 42,000 10) 87,581 88,000
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